PAYS 102, Ceneral Phyvsiesfl KOC UNIVERSITY Spriay Semester 2017

College of Sciences

Section 1 Quiz 7 03 April 2017

Closed book. No calculators ave to be used for this quiz
Quiz duration: 15 minutes

Name: Student 1D: Signature:

A rigid circular loop has a radius of 0.20 m and is in the xy-plane. A clockwise current
1=5.0 A is carried by the loop, as shown. A uniform external magnetic field, B=0.20"T
in the positive x-direction, is present. Calculate the magnitude and the direction of the
torque on the loop. Shortly after this instance, which of the points a,b,c,d will be moving
towards you? Assumen =~ 3. ’
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College of beiences

Section 7 Quiz 7 03 April 2017

Closed book. No ealeniators are fo be used for this quiz.
Quiz divation: 15 minuies

Name: Student 1D: Signature:

A wire segment 1.2 m long carries a current /= 2.0 A, and is oriented as shown in the
figure. The +x-axis points directly into the page. A uniform magnetic field of magnitude
B=0.50"T" pointing toward the -x direction is present as shown. Find the magnetic force
vector on the wire segment. (sin(30°) = 0.50, cos(30°) =~ 0.86.)
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PHYS 102:General Physicsll  KOC UNIVERSITY Spring Semester 2017
College of Sciences
Section 3 Quiz 7 03 April 2017

Closed book. No calculators are to be used for this quiz.
Quiz duration: 15 minutes

Name: Student 1D: Signature:

An L-shaped metal wire is made of two equal-length segments that are perpendicular to
cach other and carry a current /=4.0 A as shown in the figure. The wire has a total length
of 6.0 m, and it is in an external magnetic field with magnitude B=0.2 T that is oriented
perpendicular to the plane of the wire, as shown. What is the magnitude of the net

magnetic force that the field exerts on the wire? (You may assumey?2 = 1.4.). Indicate
the direction of the net force with an arrow on the figure.
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PHYS 102:General Physicsll  KOC UNIVERSITY Spring Semester 2017
College of Sciences
Section 4 ' Quiz 7 03 April 2017

Closed book. No calculators are to be used for this quiz.
Quiz duration: 15 minutes

Name: Student 1D: Signature:

A rigid circular loop has a radius of 0.20 m and is in the xy-plane. A clockwise current
1=5.0 A is carried by the loop, as shown. A uniform external magnetic field, B=0.20 T
in the positive x-direction, is present. Calculate the (magnetic) potential energy of the

loop. Assumern = 3.
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